IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

dnssec-both-UDP_client_edns_fallback
IPv4 IPv6

EDNS0:512 EDNSP:1232 EDNSP:4096

EDNS0:512 EDNSD:1232 EDNSP:4096

Dual-Stack

EDNS0:512 EDNSP:1232 EDNSP:4096

L9927 9077 GO0 | 4407, | SO\ | L9974 | 4277,
VAR A N/ AV NN | L7 | 47447
DL | Ll LY | 27 NN | AL | LAl
/AR YN (/AW WNN | AUV | A
LA | 9077 DAY | 07 | SONN | L9007 | 44077,
YL | 1L L1 | LAl Y NN | A0 | 7
AV YL | 71 NN | 4ZA | LY
VAR Y YV /AW WNN | o7 | 2477
|
| | | |
[ [ ||
Y09 | 097 LA | 9077 | NN | 407 | 47074
N /AW L, VA VAR A NN | AUy | S0
Ll | 247 /AW NN ’/’///// VA
/AW VAR NN | o477 | L7
7 A7 AV 727 AN
LA | LY VAR A NN\ | LA | LA //
Yl s L7 7 /AW NN | A07 | 17777
/AW Y VI /AN A NNW | A7 | Lt
NANN [ DNNN QNN [ NNAN NNNN [ DNNN | mm
AANNINEINININNN NINANNNEERNANNYNY NONAN [ XQXNN [ HEEE
TONNN [ NN NNON [ NONNN | B NONN [ SN\ ([ EEEEn
NNON [ ANNNN DNINANNNEINNANNN NNON | NNN\N | HEN
LA | 947 YLL | L0770 | SNNN | L9074 | 449747
Yl Y L7 7 ///’/// Yl NN | A07 | 777
/AW 2, YL | NNW | LUl | LY
VAR 2 (VI AV A2 NN | Y7 | 277477
L9727 24747 QLA | 7907 | SN\ | L7407, | 474447
/AR zr/,a// Y NN WA VAN
/AN YL | 17 NN\ | LA | Yl
DL A (Y /AW 2V W\ | A7 | /7
HER
| | | |
[ |
L LI LI LI L LI L LI L
g;sg gﬁﬁg gBKSE_"? gﬁ‘m‘g QES&"? QKS&‘Q QF\SB&? gS‘m‘g QEB&"?
oggz 8885 3383 8885 3383 3883 8885 3885 3883
TSN T[N T[N T[N T[N T[N T[IN T[N T[N
S ® S ® S ® S ® S ® S® S ® S® S ®
E'UE S'UE 5'02 EUE E-UE S-UE S-ufi EUE 5-02
[ c<s c<S [ [ (== (=) [ c<S
8§38 S38 S33 538 gS3IZ 538 SIS G383 533
2 S2 o= g2 oS ©= g2 ©2 o2
= 5 = 5 ! 5 5 5 =
[ Cc [ Cc [ Cc [ Cc [
o o o o o o o o R

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (n

Path1280 noP TUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1280 (no PMTUD

15
1280 éPMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

15
1280 PMTUDL
1280 (no PMTUD

Path 1280 (no PMTUD)

1280 %PMTUDZ-J
1280 (no PMTUD
Path 1280 (no PMTUD)

100;X >Y
50

-100; X <Y

log(‘%nssets (X) - %nssets (Y)D

fv)



